which of the following physiographic regions of
Rajosthan share’s - its boundary with Madhya
Pradesh?
Choose the most appropriate answer from the
options given below:
(A) Western desert plains region .
(B) Semi-arid region
(C) Aravali region
(D) South-eastern plateau region
(E) Question not attempted
TeeaH & Frafaiae § 8 Sna Ot 8 T
T 3 WY ST H T W S 82 4
frfafas et & & waifas sugs sw T
(A) ot weere fee i

(B) I &
(C) a8
oy fgiverd &
(E) :‘-T—lﬁﬂﬂ‘l'ﬂ

Tropic of Cancer passes through which of the
following regions of Rajasthan?

Choose the most appropriate answer from the
options given below: :

(A) Sirohi (B) Bhilwara

(C) Jhalawar (D) Banswara

(E) Question not attempted

= v e o et f @ frm & & g

LG .

St et i & wafirs J0gw IECT:
) fod B) viarst

(C) EmETE 4By SwaTs

(E) Faiawd

Which of the following regions of Rajasthan

shares its boundary with Gujarat state?

Choose the most appropriate answer from the

options given below: '

(A) Chittorgarh (B) Pali

(C) Udaipur (D) Nagaur

i d
2 uestion not attempte
g;ﬁf%ﬂ 3 TR T S-S & T T &
7 87

gy v T AT |

Frfertiaa famedl § 4 Fratfire Iagw S
4y fadsTE (B)

¢y =g (D)

(B) wai w4
DEF - 1314 ) B

The compound' interest on T 4,000 at 10% per

. annum for 15 'years, interest compounded half

yearly is:’

24,0007 | & 3 ferw 10% i @l rdaniis
wHahfir B ST <t = &

(A) - 63050 (B) T 600

(©F 362050 (D) 2625

(E) Question not attempted / STAT 74

The difference between the compound interest
and the simple interest on a certain sum for 2
years at 10% per annum is ¥ 700. Find the

compound interest on the same sum at the same

rate for l% years when interest is compounded

half yearly.

T TN T 2 T T 10% i & ahafe samr
AT WU A H 3T T 700 #) IE TiE e 3w
aﬁl%aﬁwaﬁmmmﬁwm
ardarfifer safem Srar @1

A) TIL03375 (B) ¥12,337.50

(C) T1221125 (D) T11,885.40

(E) Question not attempted / HIART ¥

At what rate of compound interest per annum will
a sum of 5,000 become T 5,724.50 after 2 years?
~hate =T i o i s T e 5,000 Frufir2

=4 g T 5,724.50 gt st
(A) 6% (B) 6.5%
(C) 7.5% | %

(E)  Question not attempted / R w3

What number should be subtracted from each of
15, 28, 20 and 38 so that the resulting numbers
are in proportion?
W@ 15, 28, 20 T 38 H el i & - wE
wrerd ST o W e wee # g
(A) 3 B 6
(€) 4 —D) 2
(E) Question not attempted / 3TFATE TH

[ Contd...



The Nagoya Protocol in access .ang benefit
sharing was adopted under E-xj aggis of:
Choose the mrost pr!‘ﬂprff_rs' answer from the
options given below: o0
(A) The Zoological Surveyf India
(B) The convention on Biﬁfb'gical'biversity
(C)  Preinvestment Surveydf Forest Resources
(D) National Centre
Information o T

(E)  Question not attempted

SYTEIAl Ud WM WS T S
% 3faia siftem i

Frefftaa foesedt & & waifiiE sogm g
(&) v s adae o

(B) SEfafawmafr (o
) i el ve WiTE i fuy

(D) T U BT ATaR TS SER

(E) IFafaus @

9 First ‘National Space Day’ (s observed on 23
August 2024 because:
Choose the most appmprﬂa answer from the
options given below:

I"l}g'r_ . Biotechnolog
o i

- (A) India became the fuu‘q_hl-cuuntrg,r to land on
the moon and the firsttgireach the Southern-
Polar Region on 23%gAvgust 2023
(B) 23" August is the birthday of Father of
Indian Space Prograrfizie
(C) 23" August is the daR of foundation of
ISRO &)
(D) Indian MARS Miss% was launched on
23™ August
(E)  Question not attemptead/
Y U st feaw 23 3mmer 2024 A
=TT 417
fretferfiad e i & FUgH I
&) TR fag @i q e =g 391
23 31 2023 ot g 4 7 T
T I5eT a9 ™~
(B) 23 Wﬁﬂﬁ“ﬁfﬁ'ﬁﬁﬁgm%ﬁmﬂ
e & -
(C) 23 STREA 1 580 ot gy .
(D) TR 35 T v apy 23 sy i AR
B
(B) SR

DEF-B14] § 15128 2] 20228

I &Y el 3y

10 The state animals of Rajasthan are:
Choose the most appropriate answer from the P
options given below: ) | e >
(A) Tiger and Cow .‘of \io
(B) Tiger and Came ,‘ﬁ \ﬁ_‘) 7 ovoo
(C) Chinkara and Camgl e ok ? A"
(D) Camel and Black.Banther ' |~ 40 /ﬁ‘“
(E)  Question not atterfipted 'E/‘TE % -f.r-:‘“
TS H T T ) 2
Freferfaa fapedt & waffirrs I9gH TG
(A) “arefrm <3
(B) frar 3tz I::; e g
qor e s 7
(D) 3z 3T wrem < 5
(E) aﬁﬁftﬂ L) (Vo] _3_1-;.-;_-'
(| g f
11 Which of the followingFivers is associated with
the Bay of Bengal draiur;ge system?
Choose the most appropriate answer from the
options given below; :
(A) Jakham Chambal ~ q [1357 E]'
(C) Mahi Sabarmati I
(E) - Question not attempted ‘o
Freffas & FA-dt wdiame S smar arg
ﬁtl%ﬁﬁaﬁﬁﬁffﬁﬁﬁ%aﬁwg?ﬁm?ﬁ; SN
(A) wmEg | Y
(C) W G lEteis
(E) smafass o
' ™~
12 Which one of the folloWihg rivers does not flow
in Rajasthan? ':4
Choose the meost appropriate answer from the
options given below:
(A)  Subamarekha (B) Mahi
(C)  Luni @ Banas
(E)  Question not attggipted
Frefafiae i & -t T2 T F T T &
Frerffire fared & & Wi 3w v .
WAy ﬁﬂ}mfﬁﬂ“ﬁfﬂf
(B) =t o
€
(D) =y
(E) " srywferwa -
0
%L g L ARS8 o
53R, Y WMLk

—
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which of the following National Highways pass | 15 ]c?h:rz::h . f‘UHOWing- RSy Niki,
through Rajasthan? N Of_Jhu_nJhunu {Rajasthan) won ey, 17
cChoose the most appropriate answer from the at Macau, '?]ﬂna In June, 20249
options given below: Choose the most appropriate ansye, from
(A) National Highway no - 208 options given below:
(B) National Highway no - 4 (A)  Gymnastics
(C)  National Highway no - 10 (B)  Samho
(D) National Highway no - 11 (©) Chcssl
(E)  Question not attempted (D) Badminton
Rt 3 & Bew wefia womm e @ E) Question not attempteq
BT T &2 AT (T ﬁrﬁﬁmrﬁnﬂ%rﬁrqﬁf@ﬁﬁﬁ
ﬁn%ﬁaaﬁ%ﬁﬁﬁﬂaﬁﬁaaﬂgmmgi f ﬁ“@“;‘;?%?h& 2024#%@
(A) TRy Tt v < 205 : “ﬁ‘”@‘*“ﬁaﬂﬁﬁ- 1
(A)  Frnfes
YBYT U et w4  ® oy
© @ﬁmﬁﬁ@-m e
) @) T wemnt der - g ©) Hefirr 18
- (B) afmwy (B)  srafmus
14 Identify the Rajasthani player who represented | 16 Sh. Bhajan 1.1 Sharma, CM of Rajasthn
India in Paris Olympics 2024, ' represented which constituency in thelét
Choose the most appropriate answer from, the Assen;hly?
options given below: Choose the most appropriate answer from (e
(A) Lalit Kumar Upadhyay options given below: 5
(B)  Maheshwari Chauhan (A)  Sanganer !
(C) Neeraj Chopra fB}_ SPahP“m
(D)  Aishwarya Pratap Singh Tomar if); 18{1::::&[1&
(E] Qucstion ot e 3 : (E) uestion not attempted
8 TR faedt for e sheifes A mrfaagwﬁmm;mwmw
e w1 sfaffere faa ﬁﬁ*ﬂﬁmm%ﬂwwﬁﬁﬁam%?
Frferfian faeredt & warfors sugws 3 g, et Rt # 4 sratfees e e
HA)  fera R ggTe AT TR
(B) = e (E‘ g‘:_lf!“m
o i =
(D) W way fige dme DE
(E) oTfaftawy
(E) sl ag [ Contd=
PEF- B4 8 4

- —



17 Which party has won, Banswarg Parliamentary
constituency (Rajasthan).in the 2024 Lok Sabha
Election? e
Choose the most appropriate answer from the
options given below: '

(A) Bahujan Samaj Party -
(B) Bhartiya Janta Party

(C) Bharat Adivasi Party .
(D} Indian National CG“ETCSS

(E)  Question not attempted

2024 ¥ wFET T § R o Y aigarer
(USET) HHEE & 9 Sita ww i

(A)  HESH THT W

(B) WG St=m oret

\er v snfeaTdt o

(D) EHem Jvre Fivw

(E) waf@ s

18 A sum of ¥ 1,800 is divided among A, B, C so
that A gets 2 of C's share and B gets 5 of A’s
share. The share of C is:

1,800 Fr Ui #Y A, B Awr C 7w yER AA T
% A F1 C ¥ ama %wsaﬁmﬁi“ﬂ“%
STH BT 1 C %1 Wy 2
(A) T 600

20  How many parts are there in the stomach of a

camel?
Choose the most appropriate answer from the

options given below:

(A) Five

(B) One

(C) Two

(D) Three

(E)  Question not attempted

U F2 & A i ey v R

Frafafas fawedl § & waifas sogs sac=S

oA, T f: < L
T

% L L

D) = n;_c,-!.": e «AA

(E) IqEi@ss a4 ¢ T &
3 L 23y

e ¥ 21.6: 8

21  Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic
of the following diseases?

© v (B) ¥1,000 Choose the most appropriate answer ﬁ?;: the 2
00 ~AD) 21,200 ooz sives belome 3
E) ) ; ptions given below: M 7\
Question not attemipted / STFwIA ¥4 i, Tk /25; A
19 The process in which the superior males of one (B) Hemorrhagic septicemia |68 0 |
breed are mated wigh e superior females of (C) Rabies =
Zi;other breed ig called: (D)  Anthrax
oose
options gt?\i_.; ']:r appropriate answer from th¢ (E)  Question not attempted
Ow: . i
@) Blroediy (B) Out breeding il Wﬁﬁ T o S Wy
©) Back €rossing (D) Cross breeding fefafm M s e Yarfr
(E) _ Question not atempreq e &
et s e 3 A gt 7T P et & waifores Sugws swogy,
ﬁqﬁ{ihaﬁwﬁﬁlgfg;mwm }%ﬂgﬁ: (A) st £ &
(A) m:m e ) %ﬁﬁﬁﬁm a 2 3] . 13
B) e v © i « ¥ &
©) 3 Seror e (D) e i
AD) U T e T8 2
E uAq
® gy D il G
DEF-B14 | 8 5 | Conta,_. ?';:"X o
[ & .
. 5 G ! =
C‘f‘-?_'.' -~ ¥ 147\'2 B Yy 3 £ % t
= K L s
A & S [




17 Which party has won. Banswara Parliamentary

constituency (Rajasthan),in the 2024 Lok Sabha
Election?

options given below:

(A)  Bahujan Samaj Party” '

(B)  Bhartiya Janta Party

(C)  Bharat Adivasi Party . .,

(D)  Indian National Congress

(E)  Question not attempted '

2024 ¥ SrwEat g9 § fhw o ¥ wigarer
(TR SEe & o sfiq mw e

Frafofees fmeaig g wafférs suge s
(A)  FESH GRS U

(B) wrdt s=ar g
ey vra anfeaTt are

(D) e e =Y

(E) sigaRaws

A sum of T 1,800 is divided among A, B, C so
that A gets %— of C’s share and B gets - of A's
share. The share of C is:

T 1,800 T URTFT A, B 99471 C ¥ 30 W |idt d
C R AT CHAME 2 qUTBF A F A 3
WTH E4T 21 C 7 97T &:

(A) Z600 (B) % 1,000

() %900 AD) 71,200

(E) Question not attemipted / 3T ¥4

18

The process in which the superior males of one
breed are mated with the superior females of
another breed is called:
Choose the most appropriate answer from the
options given below:
(A) Inbreeding (B) Out breeding
| (C) Backcrossing (D) Cross breeding
(E) Question not attempted
o wferan Foral ush T & 2w T gad T A
9rg |IaT H HHTTT AT ST 8, FETd! 8
et fawedt # & watfias sogw sac Tt
(A) SIS
(By WNLTNAL
(C) W HRT (3 wifm)
/H’ ) HeRt a4 ["ﬁ;"lﬂ ﬁfgﬂ)
(B) Fgaf e

DEF-B14] §

19

S |

A
P

™
E
\
i
>
3
i

20

21

How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the

options given below:

(A) Five

(B) One

(C) Two

(D) Three

(E) Question not attempted

ek 52 & S F fora wrr g &2

et famedt 7 & watfars sagw oo a:

@) j: i i ¢ A

e e R T

(D) = .B.-“-"-"l— & iy A

(B) fuiass 4, ¢ k o
21.6-

Bleeding from all natural orifices and distress
tfrembling is important clinical symptom of whic
of the following diseases?

Choose the most appropriate answer from the

options given below: Of 31'\

(A) Black Quarter ,.35"

(B) Hemorrhagic septicemia 1758 o |

(C) Rabies

(D)  Anthrax

(E)  Question not attempted

o wFfer oF F wEE st FwEdt By

Fraferfee & & R A a1 o e e

TTEIT B9

ﬁ'ﬁﬁ‘iﬁaﬁﬁﬁﬁ%mwﬁmﬂﬁ: '

(A) = aamt '
By firiefres et ern R

© afer L

(D) i N A

(E)  srgafaws m

. [ Conta,_ 482 o

R ¥ 13 2R
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(A FEw
wey— Fremy () {Dﬁnﬁﬁ‘m

24

. Frfrfan faedt & st g e g

—1)

Foot and mouth disease in cattle is caused due to

infection by <

Choose the most appm;%rc answer frﬁm Ihe
o

(BVD Bacteria

(C)  Virus (DY Protozoa

(E)  Question not altcmgd

T F g e T

%1

Pt frered 3 & wratfire sugw s
(B2 sy (@it

options given below:
(A) Fungi

AT

(E) Safaws

_ r—i

Grooming of calves is doffeito:

Choose the most appfbjr%te answer from the
options given below: :

(A)
(B)
(C)
(D)
(E)  Question not arrem'—{d

TS AR o

Keep them clean
Get fibre
Avoid licking

-
Q
e8]
&

Decrease blood cir&ﬂalion

IF = TE & fan
mm]mmﬁq
amnaawaawﬁ-rttr

T ITTHAT0T T A & o
A ve i

i

(A)
(B)
(C)

(E)

‘Project Tiger" was Iauncg_?d in:

Choose the most appropriate answe, from the
upliDn-‘i Ei\![‘n bclﬂl'-". g
(A) 1973 (B)sy 1962
(€) 1968 (D) 1970
. L
(E)  Question nol altemptl-d
g g (T m?ﬁng'cﬁ
ﬁmﬁfmﬁwuqmﬂimmm g
LAy 19738 (B) 196275
(C) 1968 1 (D) 19707
(E) 3Tvfta 94
- DEF - B14 | % 6

25 Which of the followipgjs not a forest andy,
(-
Choose the .most.a&ﬂj’ﬂ'"’f answer fr,
options given belowy (3
(A) Protected fore§td
(B) Reserved fure;g
(C) Unclassed forests
(D) Indigenous far&ts
(E)  Question not aftmpted
frefefiaa # & -8 3 3= dam;
%? ©
ﬁtr%f‘aﬁﬁar«ﬁﬁ#ﬂafﬁa;mmﬂ
(A) W g
(B) i aq ;
(€ sEfigaas ©
(B) sguiaws oy
: o
, i —
26  Animals whose numbgts are reducing 04
that they might face Scfinction are knowe &
Choose the most appropriate answer jos®
options given belowied
(A)
(B)
©)
(DY
(E)  Question not attempted tF
B S forreht v :@m A A |
&ﬁ?ﬁnwmm% e ¢ # |
Frfafa favect i § frerfires 3977 “
(A) v sfemfed
_AB) mm:wwﬁ%g
©  faqw snfet
(D)  waETYfter sfaat
(E) rufta uy

resource?

Endemic smcé?é
Endangered spédies
Exti W o
xtinct SPECIQS;#
Susceptible species

L b
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Which of the following statements is not correct
about laterite soil in Rajasthan? -
Choose the most appropriafe answer from the

options given below:

(A) It is formed by the crystalline and
metamorphic rocks. '

(B) This soil is found in Dungarpur,

(C) Itlooks red due to the presence of iron.

(D) It contains enough quantity of phosphorus.

(E) Question not attempted

Frafefaa & F-a1 Fum Toram it SR yar
TR A we e 8

Frefafaa faeed # & waifas svgw s

(A) T FHETaid O WK TgE A =t Y

(B) 8 a1 $TOGL & urdt st 21

er wite 37w &t Jufeufy & Fwor g8 @@ T
ST 1

_Dy 3u ai qrEr F SresRE g S el

(E) @@y
28  Arrange the following disu_:icts of Rajasthan in
descending order according to their literacy rate
(Census 2011):
a. Churu b. Kota
c. Alwar d. Sirohi
TrereaT % ettt frelt @ amawar 2t (20116
FATIOET) & T  § sqaiedd i
a. =% b. 1T
c. HER d. feud
Choose the most appropriate answer from the
options given below:
< few e Feae i & rrtfors ergem 0
AK) b,ead (B) d,b,c,a
(C) ab,ecd (D) b,a,cd
(E) Question not attempted / 3 a4
DEF - B14 | 8

29

30

31

—€) T 1,120

“Vijaya Stambh”, located in Rajasthan was
constructed by?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)

Bappa Rawal
Mahmood Khilji
Rajaraja Chola
(D) Rana Kumbha
(E) Question not attempted
T § fro fasm w5 fain fees g
HEET TN
Pt et & & wraifires sug s -
(A) =T UEA
®) we e
(C) =T =
_{,D)" TUITFFET

(E) wquiawd

A shopkeeper sells an item for T 900 and suffers
a loss of 10%. To eam 12% profit, for how much
should he sell the item?

T gwrer fadt avg i T 900 7 dwer R iR g
10% it g1t gt 1 12% o s1fsfa =3 & e 3
g 1 foe 7 A =few
(A) T1,100 (B)
(D) T1,112

(E)  Question not attempted / AT W

Nikhil sold an item for ¥ 1,425 and suffered a losg
of 5%. For how much should he have sold it 1o
eam 10% profit?

Fiftaer & wer aeg 5% o1 Fwmr T 1425 T iy
lmmwﬁhm%maﬁﬂaﬁg fray &
Fft wnfie oft?

(A) T 1,662 (B) T1,638.75
(€) 21,642 —D) T 1,650
(E) " Question not attempted / A vy
[ Contq,..

o
?'i$llw
1,098 ¢ -
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33

34

A shopkeeper sold an item for ¥ 960 after allowing
20% discount on the marked price. What will be
the selling price of the item if he gives only 12%
discount? .

e TR e i ot e T 20% F A
I ¥ 960 F = aft 7€ ¥ 120 A G I AN I
] 1 s e e

£ T 1056 (B) T968

{(C) <998 (D), T 1042

(E) Question not am:mpied / awgahfrmr

[ |
In which folk theatre for:m'is its artist called

*Behrupiya’ (Impersonator)? |

Choose the most appropriate answer from the

I
options given below:

(A) Tamasha (B), Swaang
(C) Gavr _ (D). Ramavat
(E) Question not atlern}‘;tled
ot iter T2y St 5 Tt I Tew 0T et ST
Fretferfiae foredt f & rerfires g 3w i
(A) mmEm (B) @
(c) &l [Dflf LEICE]
(E) FFaRawd ¢
v

rI
Where is' the Keoladeo “Ghaﬂﬂ National Park

located? L

Choose the most ﬂppmp;fa!e answer from the
options given below:

(A) Udaipur (I{J Bharatpur

(C) Sawai Madhopur() Dholpur

(E) Question not attempted
aaaﬁﬁmmmﬁﬂﬁw%?

P e & e Togm e,
(A) AL 4By R

(€ wardwii (D) g

(B) sraR@ws

DEF-BI4] @

is
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b
o
b
Which fort of Rajasthan was mfmcdmul

‘Second Gibraltar of lh@'ﬂrld‘?
Choose the: most apprwfare answer [m‘“&

options given below:

RO
(B)
©
(D)
E)

Junagarh
Nahargarh
Mehrangarh

N

0416

Taragarh (Ajmer)

Question not attefmpted

ey ¥ fore frer =t %mmﬁm:

ST 27 |
Freififiaa formedt i & Al I9gw s |

(A)
(B)
(©)

APy ARG ()

(E)

Which of the following Widtricts of Rajast®

S[re
AT
HETE

s en

2

62800 041

b

the highest sex ratio in %l area accordin?®
census of 20117

Choose the most app

options given below: w

(A) Jhalawar 4]

(B) Ganganagar 2

(C) Pali <

(D) Jaipur -

(E)  Question not atternpted

2011 0 STvRT p ﬁﬂﬁﬁgﬁ
& formr fret = smftor g W “aﬁ:q
e et & Quffre 0
@ wewy O

(B) T <
) et o

(D) g

®) safaws ltuﬂ*

B
riate answer £
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In which of the following areas of Rajasthan
Salar forest is not found?

Choose the most appropriate answer from the
options given below:

(A)  Ajymer - (B)  Udaipur
(C) Jaisahnerm (D) Iali
(E)  Question AM attempted
Frafafiga s R & forw & wrem a7 g
T &2 <
Friffias faaediat & watfires sugem s,
(A) IR o ® @
(E) Staf@ w40
N

Which of the fol‘lkc?ping trees is not found in the
tropical thorn forBsts of Rajasthan?

Choose the mosfiappropriate answer from the
options given belgw:

(A) Rohira

Bair

Bamboo ¢y  (B)
(C) Kheji QO (D)
(E) Question hat attempted

Frafafas § SR 99 ToyH & IOERREHE
e aAT § E Y S .
frmfefian fawetit & watfirs J9gw a0 S:

AR) =" (B) e
€ &l o O =W
(E) FHE@weD -

v o]

Name the fort b& by Maharaj Surajmal in 1733.
Choose the mogtjappropriate answer from the

options given beTdW:

(A) Gagron rér-r' (B) Jalore fort

(C) Lohgarhfort (D) Churu fort

(E) Question fiot attempted

1733 § HE T fafifa foret = T 2-
frfafaa & watfire gage I
(A) TAfRED  (B) e e
<7 mﬁg (D) o feren

E) EEREvE

’ DEF-B14] @

40

41

e Aefifiem .

~B)

D)

—AS)

Which famous temple was constructed by the

legendary Bappa Rawal in the g™ century?
Choose the most appropriate answer from the

options given below:

(A) Rishabhadev temple
(B) Eklingji temple

(C) Shrinathji temple

(D) Jagdish temple

(E) Question not attempted

gt st # Fo vae g fEw afae af= =
Formfor wFamar mam

Frafafas e § & Faffas suge a0 =4
(A) FeT ufet

wsHfeTit afeet

sfirusft wf=et

ST AT

et va

©
(E)

Stainless steel is made by mixing iron with
a. Cdrbon | b.  Nickel and chromium
¢. Magnesium d. Manganese

Choose the Lm!m appropriate answer from the
options given below:

(A) 'a,banddonly (B) a,bandconly

[
©) b,ec anld fi only (D) a,candd only

(E)  Question not attempted

T TECE Y SESES S —
e

a. Tl b. e i wifiry
LU :
1 R feret 8 & waifires swge s .
(A)  Fawtq, baivd b
(B) Fawa, baltc

¥ b, ¢ 3N d

aﬁ'ﬁu.caﬁ(d

rgaf wsr

(D)
(E)

[ Contq,,,
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42 When vinegar is added to baking soda a gas is | 45  Which of the following Statements ;g not
liberated which when passed through lime water about the climate of Rajasthan?
makes it milky. The gas is: Choose the most appropriate answer iy
Choose the most appropriate answer from the options given below: &
options given below: Ehas .
A t d o
(A) Nitrogen  (B) Hydrogen ) o (YOS CESEIL receives minjpy
(© Oxygen @) Cabon dickide rainfall with annual average of 5 om, |
(E)  Question not attempted (B) The . average rainfall is not high |
W&%‘T%ﬁﬁi@mm%ﬁﬁﬂ? Rajasthan because it is locateq i t
Foraperelt & < <7 3 it & wanfer g S o Y interior
-, i part-
St fredi & Awaif . ﬁfﬁ (C) The extension of Aravalli range
TP ' (B) E’Sél,?l';[ perpendicular to monsoon winds,
(C) At DY FrE e (D) In winter little amount of rainfy] B
(E) sImf@ws . received through mavath,
43 In which of the following areas of Rajasthan the ® Quesﬁun fiot attempred
desert soil is not found? AR 3 -2 et et e
Choose the most appropriate answer from the o el e &
options given below: . Frafafes R 9 mﬁ‘aﬁwgﬁmﬁ
(2) iota ®) Churu (A) e e qed o ast a2 e
(©) Nagaur () ' Jodbgir e sitea 25 adfr &y
(E) Question not attempted :
W%ﬁﬂ%ﬁaﬁﬁﬁwﬁﬂﬁww ®) T & st aut sifi T @ i |
T ot et AR F R
ﬁﬁ%ﬁﬁﬁﬁﬁ?ﬁﬁﬁmmmﬂ% ~C)  IEEh sEer F=r R nn:ﬁ‘l“ﬁﬁ* '
A T ® I | BEECE]
(© =min () S (D) ¥y ¥ s & iy auf syt |
(E) srafa ws - I
_ (E) wquftayy j
i 44 /) Which one of the following wild lif; : : z i
@ Mo o a_:han?g wild life sanctuarjes 46 ‘Which of the fO]lBW’ing is not an alloy? { 49
Choose the most appropriate answer from the Choose the mose appropriate answer from % |
options given below: options given belowy: i
) ig; I;:m Saga:jr (B) Ramgarh Vishdhari (A)  Stainless stee] (B) Mercury i
ensroadgarh (D) Bhimgarh . (C) Bra '
(E) Question not attempted ® Qu::;iun rora (DJICdanzc .I
Frafeaftas # adqar - g 5 atternp IJ
iy AR Freferre 3 & o fasrurg e 7 =
ﬁﬂ%ﬁﬂﬁwﬁﬁﬂmﬂw%maﬁ: et ﬁ‘m‘fﬁ#mwaﬂﬁ"" r
AT T ETR (B) TS Ry (A) = emehe Tt (9T
LBy
(©) Haler ) g (©) e (D) =i
(E) iy (E)  saftrge DEF
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48

49

N\

Which of the following non metal is a conductor
of electricity? I
Choose the most appropriate answer from the
options given below:
(A) Todine (B)  Sulphyr
(©) Graphitt O (D) “Coul
(E)  Question no tempted
Frefafar i@ Ty forege o e
Pt faeredt wﬁa-asmgﬁamgi;
(A) SR v B) wew
40 I (D) Py
(E) aRaws
To remove farsi ess defect of eye we use
spectacles ﬁttedi%ﬂ 3 )
Choose the most appropriate answer from the
options given beloW
(A) Convexo-Céiidave
(B) Concave ]»::::!t:"’i
(C) Convex lens
(D) Bifocal lens _
(E)  Question no empted
¥ 3 2afl 2 o i e s o e gy
wE Ty
ﬁwﬁ%ﬁﬁﬁﬁmwmﬂi
(A) w5
(B) awaaa@m%
—€) TaaTEH
(D) fawiwdida®
E 9 Q
(E) rqaf -

Which dialect of &) Rajasthan is spoken in the
region of Churu?

Choose the most gg{!mprime answer from the
options given belowy

(A) Hadoti © (B) Wagadi

(C) Malawi (D)  Shekhawati

(E) Question no mpted

TSR o S[& &1 G- st aiteft s 27
s frepedt watfirer gugew s -
(4) w@dt N B) ah

© wedt Oy g

(B) wqafmwg g

DEF.p)14) a o

11

50

51

52

11

“Rane Jagpat ra Marasya™ was written to mourn
the death of-

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

Rao End@iingh

MaharagayKumbha

Maharah&)Jagat Singh

(D) Sant Na:?f‘i&cv Ji

(E) Queslio;_x_r‘c:tauempted

T ST 1 AT R e o6 911 e
fere ferar mamey

ﬁnﬁrf“@aﬁﬁﬁﬁﬁﬁﬁnaﬁ&mwgmaﬁtgﬁ:

A mETERle 8] werom g
(©) R St e (D) wa AR o

® sy

*“Jeen Mata”ﬁhe eight armed goddess is
considered the'camnation of which Goddess?
Choose the n!ﬁ?! appropriate answer
options given below:

(A) Sarasw{:g (B)
T

from the

Durga
(C) Laksh (D) Gayatri
Qucslic@qot attempted

‘Teej’ festivalH} Rajasthan is .EE!E
month of -

Choose the masy appropriate
Options given Beflow:

(A)  Phalgud (B)

brﬂ.tEd in the

answer from the

Shravan

©)  Chaitra D)  Kartik
(E) Questiogrpot attempteq
meaﬁﬁo~aﬁwﬁ?qmﬁmmmma~,
(A) %ﬁ&w%m?
e ;'?ﬂ? ™ . Ty
& E D) =ffs
-
[ Contg



53  Where is the Kapil Muni fair held on Kartik

Poornima?

Choose the most appropriate answer from the

options given below:

(A) Rewasain Sikar

(B)  Chaksu in Jaipur

(C) Kolayat in Bikaner

(D) Diggipuri in Tonk

(E)  Question not attempted

e ot Y v i v vt e 8

Frfifs favet 3 & wraifives g s

(A) mﬁ‘hm

(B) g sy
AC)  FFi ey

(D) i femfigh

(E) oraf@ws

AL

54 The article of Jewellery called “Borla” is worn by
the Rajasthani women in
Choose the maost appropriate answer from the

options given below:

(A) Neck
(B) Ankle
(C) Wrist
(D) Head

(E)  Question not attempted

“ﬁw*mwmpnmmﬂﬁanﬂm

¥ g ST )
ﬁurf‘aﬁaﬂ&mﬁﬁ#mﬁ&wngmmgi
(A) T
(B) ‘T@Tr
(€) Farg
L) fa
(E) srofaws
DEF - B14 | 8

12

L

12

55

To which area of Rajasthan does Shree La] Josh;
a Phad artist belong ? ‘
Choose the meost appropriate answer from th,
options given below:

(A) Bhilwara (B) Jaipur

(C) Thalawar (D) Kota

(E)  Question not attempted
mmaﬁma’mﬁmmﬂm%&a ,
CER: Ry
Freafefirn faret # & waffores suge v
vy~ sierarer (B) AR

(€ wremETg (D) T

(E) sAqafays

Keoladev National Park is famous for 1
Choose the most appropriate answer from the |
options given below: |
(A) Elephant conservation
(B) Tiger conservation

(C) Migratory birds - i
(D) Lion conservation f
(E)  Question not attempted [
FERATET A FRmukmd {
frfafas et & dwaifiE ugm I |

(A) - Bt Heepor (B) <frar wrvaT

57 ) “Chipko” movement in Himalayan region wis

held to resist against i i
Choose the most appropriate answer from the i
options given below: |
~ (A)  Road construction in hilly regions |
(B) Hunting i
(C) Cutting of trees ;
(D)  Over exploitation of forest resources “
(E)  Question not atternpted ]
Rotert & & P ooy |
fere. wférter & v oy vy o
Frfifan et i 2 wrarffires sogw s
(A) Vo A e Pty
(B) _ @z (i ),

2 B
a9 HETH ahr a1fy Sre

(E) iy E]

| Contd.
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59

[

Name the Hindu Saint, alse worshipped by the
muslims as “Ramsa Peer”,

Choose the most appropriate answer from the
options given below: '

(A) Ramdevji

(B)
Devanarayanji (D)

Mehaji Manglia
(©) Mallinathji
(E) Question not attempted
4 e e ot A ot e ot omn e e 3
ik -
Freerian et & et g s g
oARK)  THEESH (B) Hersht wmfemn
(C) <EARECHt (D)  ufeerash
(E) eie A

What is the colour of the “Pomcha’ presented to
the mother of a new born daughter?
Choose the most appropriate answer from the
options given below:’
(A) Orange
(©) >
(E) Question not attempted
e Ot 1wt it e T o o fea s @
Prffias fredt § @ watfae Iug sut T
(A) et (B) T

ey (D) ¥ (@Y
® ommRaws

To which family of musical instruments does the

‘Shahnai’ belong?
Choose the most appropriate answer from the

Pink

Lavender

(B)

Yellow

options given below:

(A) Sushir (B) Dhol

(C) Beat (D) Barrel

(E) Question not attempted

TeTE At 3 fer ofan & weifua &7

Frafafiaa fawedl # & walféra 3ugw I R
Yar g (B) @ ‘

(€ =z (D) @

(E) arafe we

EF.B14) 3

13

61

62

In which year was the “Mewar Praja Mandal”
established in Udaipur?

Choose the most appropriate answer from the
options given below:

Tz 3 T T Heer” o T e g8
Ferfefian et 3 & wrarffires Jugw ICE:
(A) 1940 (B) 1937

ﬁl;) 1938 (D) 1939

(E) Question not attempted / :‘ila'rlﬁ?l‘ o

The integration of the Rajputana into present day

- Rajasthan was completed in how many stages?

Choose the most appropriate answer from the
options given below:

TSITAT 1 T FAAH T % 9 4 foad
it fagan e ¢

ﬁnﬁmﬁﬁﬁﬁﬁmﬁmaﬁmmgﬁ:
R 7 ®) 2
© 3 (D) 4

13

/) s w1t (B)

(E)  Question not attempted / 3T ¥

Which famous personality of Rajasthan is also
known as “Banasur Ka Shaheed™?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

Major Somnath Sharma

Major Shaitan Singh

Lt. Gen. Nathu Singh

(D) Lt Gen. Sagat Singh

(E)  Question not attempted

TS Fm"ﬂ' Wi e L0} "HTU'I'IETEﬁT e
*ft T STt 7

A e firg

© . w.agfE 0) . wm fig

(E)  sraferwsr

[ Contd..,



65  Which of the following non-metal reagyg with
64  Match List-1 with List-11L. concentrated nitric acid (INO,)?
List-l List-11 , Ohisias: the s appropriate answer frop, the
a. Non-metal u{:}scd in . Graphite. options givgmpelow:
L g“"'pl;tgd“ (A) ladiig
and medici
k b. Non-metal gd II. Mercury :2; Z::Eg =
in cicclmdc@ ®) Sulph‘glll o
¢. Metal used fn? . Sulphur - (E)  Quesfioh not attempted _
electronic i%ﬁments AR %ﬁ NS STy W T am'
and wires € (HNO,) % qry rifsmar et 22 .
d. Metal usedE{I} , IV. Copper Frefafias GR=arad watfas 3uge s ‘5:3
ﬂ:ennnmetéro o Lear— kl
m"n%waﬁ'ﬁumiﬁamaﬁrﬁm ®) W’E“?fg '
a‘iﬁ‘ I - ‘. F “.:‘-"ﬁ‘“ : (C) EFI&WD
a. T, Tﬂ'qmaaﬂt . L g U.)) e
St i fr o ) g
ETFRWHN X 66 Shekhawﬁ%ginn is part of which of the
b. ﬁaﬂ?h‘:ﬁ“‘ﬁ“ﬁ I st (arm) following phfiographic division of Rajasthar?
arelt srurg “f Choose theemiost appropriate answer from t¢ | _
c. Eﬁﬂ@ﬁrﬁmﬂﬂﬁ@t II. 9% options givénsbelow: 69
I # T S A : (A)  Eastemn plains region
Ty g _ " (B) West€i desert plains region : '
d. AR AT 1v. 2w e - (©)  SemiZRid region §
l Elﬁﬁuﬁ :ﬂ | i;) .Am\.r% region
Choose the m appropriate answer from the Quesrgrn oo Wisped
options given gw .- wmw ﬁtw w ﬁﬂfl
- T W
ﬁﬁqwﬁwﬁﬁﬁmﬁ%m;ﬁ ﬁqﬁﬁaﬂﬁmﬁ#mﬁaﬁwﬂﬁa
(&) a-M,blc-m,d-1v @) ‘Eﬁ@ﬁ ¥ f
® a-tb-Bervian B) it e i f"
(fm(a-ll,h{n:,c-l.d-!ll WS ani'n%m 7518 i
J}W‘a-m'h%c IV,d-11 (D) srrEsfipy :
(E)  Questiofmbt attempted / 3T wir (E) Nﬂﬁ@ﬂf e
DEF - B14 | a 14 2 co

14
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In which of the following areas of R-ajaSthan
black soil is found? *
Choose the most appropriate a

: nswer from the
options given below: it

(A) Churu (B) « Jhalawar
(C) Jaisalmer (D) Bikaner
(E)  Question not attempted

et 3 Fefan 8 3 e 63 el g
it &2 s

A fe e faret 8 4wt v s
(A I BT HETS

(C) SHeR (D) sftwrr

(E) qai vy

In Rajasthan (SEZ) special economic zone for
handicrafts has been established at:
Choose the most appropriate answer from the
options given below: :
(A) Sitapura (B) Bhiwadi

(©) (D) Boranada

(E)  Question not attempted

TSeT 3 gafired & ford fodry anfiles & enfim

ﬁ-TQTTfﬂT %: g

Frfafas et # & waifies soge s
K diargu B) fEE

(C) fieErer (D) srETRT

(E) saf@ws

Who has been awarded the Padma Shri Award

2024 from Rajasthan in the field of social work?

Choose the most appropriate answer from the

options given below: ;

(A) Mr. Janki Lal

(B) Ms. Maya Tandon

(C) Mr. Kumar Manglam Birla

(D) Mr. Laxman Bhatt Tailang

(E)  Question not attempted

TSR & T o o &9 H J=reft gy, 2024

# Tty gt foman mam?

Prerfrfign forapet i & warffire sugw SoCT:

(A) 4 s e

(B) weft wman &=

(C) ot e vy forgem

(D)  oft wreror wg i

(E) sygaftaws
EF-B14) 1

Bhilwara

70

P

n

15

Match List-I with List-II.

List-I List-1I
(Project/festival) (Place)

a, National park I Jaisalmer
b. Desert festival II. Sambhar Lake
c. Ramsar site III. Ranthambore
d. Braj Holi I'V. Bharatpur
-1 T w11 7 firer i
et -1
fEr/aET ()

a. '{T@'-T‘Wﬁ? I. e

b. 5 Hfizae 1. | e

c. THHT¥S 1. Tt

d. w e IV. gt

Choose the meost appropriate answer from the
options given below:
e e e forapedt & wrafferes s sa
(A) a-ILb-INc-1,d-IV
'B) a-Lb-ILc-I,d-IV
a-MLb-Lec-I,d-1IV
a-Lb-M,e-UI,d-IV
Question not attempted / ?ﬂi[ﬁ'ﬁﬂw

(D)
(E)

Which of the following cultural/ tourism events
in Rajasthan will appear first in the year (English
Calendar, 2025)?
Choose the most appropriate answer from the
options given below:
(A) Braj Holi festival
(B) Camel festival
(C) Kite festival
(D) Baneshwar fair .
(E)  Question not attempted
T & a 2025 (310 RS0 F Srmme ey
R T ek oy At S T i
-
Freafirfan et & e g e
(A) 3 Bl miewa (B) e Img

AET wATHEwa (D) WIOMET ey
(E)  ryeifia war

[ Contd
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Which of the following techniques is suitable for
the disposal of bio-medical waste?
Choose the mest appropriate answer from the
options given below:
(A) Gnkineration
o
(B) (Rruse
(<) @ndﬁll
(D) "Disposal in running water
(E) ?}ncslion not attempted
frafafaa ¥ @ S ahs Sa-fufead sufie
35 e o e
Frseff et & ratfires swge swr g
(A) ‘st
®) T wwm
((Cy GpmreTefee
(D) a'?'%nn:ﬁﬁ fraem
(E) Caiauy
0
o
Su'cptﬁycin, tetracycline and erythromycin are
the ex@ples of-
Choofethe most appropriate answer from the
options given below:
(A) Bicteria
(C) gpﬁbintics
(E)

(B)
(D)
estion not attempted

_ , Ezrarsfem i s
e & semer &-

forredl & & wafferas Fagw et o

Antibodies

Preservatives

16

74

eym
/R

r
CxXamples of

Which of the following are the
communicable diseases?
a. Chicken pox

b. Can_:::;:f

C. Tuberculosijs

d. Diabetes %

e, Cholera \0)

5.'
I}.

Choose the mo%'fnppmpﬂaw answer from the |
options given b&ldiv:

(A) banddonl (B) a,dandeonly

(C) abandgonly (D) a,cande only

(E) Questionﬁt attempted

frafafas i & SF-8 svms T Fm=ror s
:}t = ‘ﬁﬂg

b. T O

c. RS (EEEEtaE)

d. wiw @@zﬁ)

e. T (FrEH

A e e e & rarifires 3o
(A) aﬁab@‘-ﬂ (B) Facia,daiite
(©) aﬁaa,bg'(c@?ﬂaﬁlaa,caﬂ(e
(B) wafmwm

Divide ¥ 1,727%mlo 3 parts so that their amount
after 3, 4 and Sgyears respectively may be equal
the rate of inter&Stlbeing 5% p;er annum at simple
interest, The se:aglid part is;

1,727 Y AT SAlfi 3 3 v it i 5% S
HIUTOT ST & GO FET: 3, 4 war 5 ¥ g W

afirat s En gew w
(A) 2600 © X AT g yppao #0041
O T aaFac o
(B) 690 0 % % ‘-L
™
© w2 oy |
T5TS o
(E)  Question jibt attempted / F3E ¥4
el TL | Contd--
Gt AV, ¥ A ‘11:‘"11
2 o
33 ! |



_ n - -
@ On simple interest certain sum of money amounts

H

4

to ¥ 18,130 in 6 years and to ¥ 20,090 in 8 years.

Find the rate of interest.

FTUT S T ES 90 6 % 7 18,130 By et

g AT 20,09n3ﬁaﬁﬁ%i%m@ratmafh
8. 8% (B) 6%

© % ® £

(E) Question not attcmpted‘f,.ﬁﬂﬂa usy
. =
77  Mendel performed hybridizatm experiments on
plants. &
Choose the most appropriate-answer from the
options given below: o0
(A) Onion Eg
(B) Tomato 1
(C) Rose -
(D) Garden pea _ <
(E) Question not attempted
LESERCIURL L €oRF dat w fRg o
Freififiae et # & warffirds Juges seC:
o
(A) == Ys) -
®) T vl
© T -
oy T ) ©
() 3ufa s
o
78

Which of the following sﬁav heterozygous
alleles?

Choose the most appropriatk inswer from the
options given below: B,
(A) BothTTandtt (B) g

(©) u D) Tt
(E) Question not attempted

frefafas & & @ trefrelt
(faeredh) = wafifa #a do

s e & e g e 7
- (&) TTudF (B) ﬁl

© u o™
(BE) oty 39

DEF - B14 oy )

1y B yit
diy- GooO

935 Ly 24

S

=anl

Fr2

5
e

17

17 _
EREEARLIE
OV o

200 90
& {3 ¢
__-lfﬁ"ﬁ"_.
79  Match List-I with List-II. ’ EE_/M}J’E /@( .}E
List-I List-11 | v
a. Phenotype I.  Genetic constitution
b. Gene II. [External appearance
c. Genotype III. Not expressed in F1
(@eneration
d. Recessive v, rl}alctor that controls a
character b racter w
T S whw fagehtn R 81
e e 570
a. EITEd aqqaﬁrzﬁm 18
b. S IL.
c. S UET i @_;q‘la‘”rﬁaﬁmqtﬁ s'f‘ '.
10 €7 8
d. FwvETTET  IV. ﬂ:&aaﬁﬁsﬁr
: ' Lror =i Freifra e 2
Choose the most appropriate answer from the
options given below:
A9 feq e faedt & watfyes g sme o
(A) a-Lb-1,c-II, d=1V .
_@" a—ll,b-W,c-I,gil]
(C) a-ILb-MHlec-TI,
(D) a-IV,b-Mc-Id}T
(E)  Question not attemptétl / 3wt war
o
80

The Bhakra Nangal Project is a joint venture of

which of the following gt‘(ll-.lg of states?

Choose the most appropgiate answer from the

options given below: €1

(A) Punjab, Rajasthan, Otfar Pradesh

(B) Haryana, Punjab, Rk than

(C) Haryana, Himachal esh, Punjab

(D) Rajasthan, Haryamtgtta.r Pradesh

(E)  Question not attempted

T e qﬁzﬂm ﬁnrﬁé‘ﬂ%a EREE R i

R &1 WY

ﬁwﬁrﬁmﬁwﬁﬁﬁww@ﬁ

(A)  YeiTe, TR, TR

(C)  wfarom, femraet 2w,
(D) . sy, wfwmm, \ I
(E)  srafm sy

TG I

[ Contq,
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"\.—‘GBT

(E)

. Which one of the following water dam projects is
not associated with Rajasthan?

Choose the most appropriate answer from the
options given below:
(A) Panchna dam project
(B) Sidhmukh dam project
(C) Jakham dam project
(D) Matatila dam project
(E) Question not attempted
Freferfiaa 3 & frw wer st ara-afteism @ dey
TEYT & T &7
Frefafas g g a waifi® g s
(A) wi=ET = 9fEeET
foema =iy af@iemr
(C) <mEw =g giEsET
(D) -~ wTaTEer s qfigieET
® sgeRawH

Pichola lake is located at which place in
Rajasthan?

(A) Bikaner

(B) Kota

(C) Udaipur

(D)
(E) Question not attempied.

foaten sie oo # fifg v o R 27
(A) R

(B) I

Jaipur

eT s

(D) SHER
Safta e

DEF - B14 ] 8

18

18

Match List-I with List-11.
List-I List-I1
(Farm animals {Caused hy)

disease)

a.  Anthrax I. Protozoa I,I'I

b. Cowpox II. Hypocalﬁlemia

c. Coccidiosis III. Bacterizg"

d. Milk fever IV. Virus |

=13 @y w11 = faam fifsg

-1 -1

(et 35 wgpsit v ) o)

a. ll;ﬂﬂﬁ I. TErET=T

b.  TEfEET II. et
(SRTSTH)

c. wEdifgatag [ S @it

d. fires fra v. feramy @r)
(& ==1)

Choose the most appropriate answer from the

. options given below:

=1 o o fornedt & & wartfires soge s

4 a-MLb-Lc-1V,d-TI

(B) a-ILb-ILc-TV,d-1I

(© a-MLb-IV,c-Ld-T "

D) a-Lb-M,c-M,d-TIV

(E)  Question not attempted / 3TAT TH

Approximate age of sexual maturity of buffalo
bull is .

Choose the most appropriate answer from e
options given below:

(A) 20 months (B) 22 months

(C) 18 months (D) 15 months

(E)  Question not attempted

m-ﬁﬁﬁwmﬁmﬁmgqﬁﬂm

&t )
Frfefan et i & gatfoe sogmaw T
(A) 207 —~B) 227E
(©) 187WmE (D) 15WE
(B) STt wer
Ic.;mtdn-



& Which of the following is not 4 Component of
bio-gas?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)

Oxygen (O,) e
CH, (Methane) )
Carbon dioxide (COo,) O
(D) Hydrogen Sulphide (llzgj\f
(E)  Question not attempted
e & 3 v e v
Freffea fawedi & & waffamargs o
A HTEEISH (0,)
(B) R (CH,)
(C) TET STFATHTIE (CO,)
(D) TR TEHES (H,S)
(E) srgaia sy

()
()
sh
N
&
i
5 % i

Which of the following Pashu Melas are
conducted Jhalawar
Rajasthan? 3

Shri Baldeva Pashu Mclb

Gomti Sagar Pashu Melay}
- Shri Ramdev Pashu Mel&™

Shri Chandrabhaga Pash&ela

Shri Veer Tejaji Pashu Mﬂa
Choose the most appropriate @pswer from the

86

in Jhalrapatan o in

a.
b.
c.
d.
(X

options given below: -

(A) aandconly (B) a,bandeonly

(C) c,dandeonly (D) h% d only

(E) Question not attempted ¢y

TR TS 6 T A e 4

F-2-d vy A s e W &

a. ot soa gy Aer 1
b. el wTT wyy Fe
c. !ﬁtlﬁ%ﬂq'ﬂﬂ’m

N oft < gy e
e aﬂ'ﬁ’r{mﬂﬂﬁ?ﬂ &y ‘

it g 7o foreredt 3 @ waifermEy g ST

(A) Fadasitc (B) *hda bale

(C) #adc,d 3N E/[.D}" b atd

-
<
Q
)

) (B) Tqaf@ws =y 1
EF-Bi14 o)

3 \'hf,k
52

19

9

87

88

89

AR 18.5%

The percentage of total solids in cow milk is
approximately ”

T 3 g 8wt 3t wfer
e 2l o
Choose the most appropriatespnswer from the
options given below: o0

ﬁn%f@aﬁwﬁﬁﬂuaf&%&ngmm T
(B) f.6%

(C) 5.8% (D) 132%

(E) Question not attcmptepﬂﬁﬁﬂ' 9

L

—e

‘Operation Flood® is related tg

Choose the most appropriate answer from the
options given below: ™
(A)
(C) fish
(E) Question not attemptedD

‘BTF@GT'T =" mﬂ%‘

Frerferfir et & wafirs Tages oo 5

oil

(A) da® By %fr

(C) uwxd D) FFd

(E) wiafmws o
ey

A shopkeeper allows succ;;ve discounts of
15% and 10% on every item. He allowed an
additional discount to his friend. His friend paid
T 2,907 for an item marked fEb JI,OGD. Find the
percentage of additional dispgunt given to the
friend. N

T THAIR Tl a5 T 15%& 10% A sfires
T T R mmﬁﬁrﬁaﬁ@aﬁﬁmg—ga‘

3 9 2 4,000 B TR D g 3w iy y

? 2.90?gmmm¥ﬁaahﬁq§m?m

wirera g Hifemy B i

(A) 4% (=) vy

(B) 7% g le 5

C) 6% Vo) b
—B7” 5% o L el

Y oy
(E)  Question Il‘?ﬁf;emptﬂgmw 2907
%ﬂb Bt PRI
D) v eat
TN TS ﬁ,ﬂm




J

s the captain of thel 4™ Hockey Indjh Junior e

94 Whoi
p 2024 for*Hockey
|

y 30% and 40% of . ,
Men'’s National Champicenshi

numbers ar¢ respectivel

” ;:rihird pumber. What percentage is the first
aumber of the second number? Rajasthan' team? : /
&t st drad dET £1 FA: 30% T 40% # Choose the most appropriate answer from the
qﬁnma_gﬂmﬁﬁ?ﬁ?ﬂimﬁ options given below:
AT 5% L e (A) Meena Mohit
B) 40% Ly (B) Kamalkant
(C) 50% %-;1?9‘-" (C) Gurjar Sachin Singh
@) 70% (D) Himanshu Kumar Meena
(E) Question not attempted / aTaRT WA (E) Question not attempted
9] Three bells ring at interva:: [c:?-r:-minute& 12 ]4&3@@@5‘@%&1—2m4ﬁ%
minutes and 15 minutes respectively. If they start T EH 3 FHE HH 82
ringing together at the same timé, after how much Fr=fefiaa faedl § & waifis Wmﬂi
time will they next ring together? . . (A) i wifEa
{A) 3 hours (B) 1 hour 50 min - (BT oA
(C) 2 hours (D) 2 hours 30 min (C) -{F&qﬁq fiie
(E) ‘ Qgestiuu.not attempted . (D) %WQWWT ;
it st s o fire, 12 fie aur 15 e & ® s f

Syt T asTdt #1 9% F v | oF #@ gy W
AT 37 AT & A et A e w6 e :
: , 95  Inwhich game did Annu Rani win the gold medal

T Y
3 e (®) 1%2150 fire in the Asian Games 20237
© 2% (D) 2430 fme | Chioose the maost appropriate answer from e | 7
€) wErRaTm . options given below:
(A) Shooting
92  Three numbers are in the ratio 3 : 4 : 6 and their (B) Wrestling
HCF is 9. The LCM of the number is: ' {C) - Javelin Throw
;ﬁw@ﬁsimﬁ%?ﬂmﬁmmmw (D)* Discus Throw
| T HETHT H LCM &:
Ao - 84 -, B are (E) Question not attempted
(C) 540 407 108 aﬁmﬂ%t{ﬁmﬁ@ﬁﬁﬁwam&ai
(E)  Question not attempted / it wa iy
_ , Freferfias fredt & @ waifirs '
93  The HCF of 13.5, 0.9 and 12 is: (A)  Fremash e
13.5, 0.9 79T 12 %1 HCF (Ve wTadan) 3, (B) Fxft
(A) 5.4 a5 03 (C) vire e
© 1.8 ®) 3 D) e i
(E)  Question not attempted / |
er 1) g pled / 3T o (E) omaferyy 'f
) 20 [ Contd- !
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g In Rajasthan

=

e

Sl

e

[

T T

u iy
nder the “Mukhyamantri

Ayushman Durghatna Bima Yojana", the amount
paid by the government, in case of death of more

than one family member in an accident js:

Choose the most appropriate answer from the
options given below:
(A) T20Lac
(B) ¥5Lac
(C) T10Lac
(D) T25Lac
(E) Question not attempted
TSTE W HETHE AT gHeAT i1 M,
st St afaTe 36 v & e =afen ¥ g
T T2 WA {27
Frefeian faedi & & waiferes sugw o0,
(A) T20%mE |
(B) T5vmE
AE€) T10WmE
(D) T25@ME -

() omafa s

According to Rajasthan budget 2024-25 (8"
February 2024) which of the following amount
bond is proposed to be given to girls through
‘Lado Protsahan Yojna?’

Choose the most appropriate answer from the
Options given below:

TSTEqT w=ie 2024-25 (8 Tl 2024) % TAR
TS SreaTed AT Aferere @ frer A W
iy gt o 2T ST &

et fasedt # ﬁmfﬁhﬁvgﬁsmgi:
(A) 72,00,000

(B) % 50,000

(C) Z1,00,000

(D) ¢1,50,000

(E) Question not attempted / aywfta 94
DEF-B14] @

98

99

21

_er 10

OBCs the

expenditure is shared between Center and state in

In Pre-Matric scholarship for
the ratio oft
Choose the most appropriate answer from the

options given below:

(A) 100% state sponsored scheme
(B)y 70:30

(C) 50:50

(D) 100% centre sponsored scheme
(E) Question not attempted

o= T = & fordt Az o omafe & =7
ST % T T4 T F i 2
fr=rferfaa freredl § & warifires Iage It I4:

/(,aq’ 100% T & Hedar 98

70:30

50:50 .

100% oz | TErar I
ST W

(B)
©
(D)
(E)

If the average of the numbers K, (K+7),7,9,12,
15 and (2K + 1) is 9, then what is the value of
(K2+1)?

FREATCK, (K+7),7.9,12, 15TUT (2K + 1) &
SfEa o, ar (K2 + 1) FITHH FT &2

(A) 26 ®B) 5

o 17

(E)  Question not attempted / A war

100 Anitem wassold ata profit of 15%. If its cost had

been 5% less and it had been sold for T 258 Jess
the profit would have been 12%. Find the cost
price of the item.

T ARG Y 1 5% T T A gy g

5% S BT TUT I T 258 mwﬁﬁmﬁw
12% BT BTl 369 T 1 3y
(A)  T2,940 (B) %3200
€ %3120 ~BT 23 099
(E)  Question not attempted / el way
{5 o, HNE [ Contq
a5 — 1oy e
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101 Which fort in Rajasthan was called the armoured
fort (Bakhtarband Durg) by Abul Fajal?
Choose the mast appropriate answer from the
options given below:
(A) Taragarh (B) Kumbhalgarh
(C) Nahargarh (D) Ranthambore
(E) OQdlistion not attempted
ST AT T Reorer o fodt Y st

-

e ey
T & waifis suge a0
(A) il (B) FETE
© TEwe D) TR
(B) gyiawy BT FART

102  What arg-Bateliya, Bichhiyo and Lalar?
Choose ithe most appropriate answer, from the

options g¥en below: . bR
(A) FbIM musical jnstruments
(B) F:SE dances

(C) Folk songs

(D) Fplk drama |
(E)' Question not attempted

(A) T (B)
—~€)
(E) sgpfawy '

103 In 20103hich famous folk dance of Rajasthan
was ingluded by UNESCO in its intangible
cultural heritage list? :

Choose' the most appropriate answer from the
options fiVen below:

(A)  KhiBeliya Dance

(B) ApH Dance

(C) Dance

(D) Tgeah Taali Dance

(E) Qugition not attempted
mloﬁmn%aﬁmuﬁztvﬁﬁgmaﬁu?{m

gsm)#wmmﬁﬂ%.
ﬁﬂ‘ﬂ'ﬂfmﬁwgﬁmﬂﬁ:.
AR) ™ (B) sfrye

(€ <EFA D) EaTh g
®) SiEfawT

DEF - Bl4 | 5

22

104 . Name the folk deity of Rajasthan known a¢ i
God of camels-
Choose the most appropriate answer from t
options given below:
(A) Mallinathji  (B) Gogaji
(€)" Tejaji (D)  Pabuji
(E) i{-j'guestinn not attempted

TR, 3 T 2 T A o 2 = S

ST &g
ﬁmﬁmﬁﬁwﬁwmﬁ;
(A) W (B) TS

© agsht D) s

(E) Siqafaws

"@ Whicﬁ;ﬁbnre of Rajasthani literature is just Ii
: lE”iné__‘?;ld listening to a story?
Chcoéé';gl.he most apprepriate answer from 1

| uptiu]i;;fgiven below:
(A) #Vigat (B) Jhamal
© Vaa (D) Parchi

(E) . "Question not attempted
TSIt e 3 forer e & e ot sty
STTHT 27

34 ferehedt & & wrarffires suges s
(A) fpma (B) @

)(g/?é;ﬂﬁ‘ﬂﬂﬂ g

=
106  Which dialect of the Rajasthan is spoken in t
‘region of Kota, Bundi, Jhalawar and Bar

mgim@%
Chmﬁ}&e most appropriate answer from
op:io:?;sf_given below:
(A) ‘Malawi (B) Mewati
(©) tD_Imdh.ari (D) Hadoti
(E) C estion not attempted
m%ﬁu@,mﬁﬂﬁﬁﬁﬁﬁi
Preatfis s & s g T
A) o5 ®)
&g ARy
(E) ‘Srwfea way ) d
= Contd~
22 oy [
i v
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107 Which of the following is not the breed of buffalo: | 110 According to ‘Rising Rajasthan 2024", Rajasthans
Choose the most appropriate answer from the rank in installed wind power capacity is:
options given below: Choose the most appropriate answer from the
(A) Murrah (B) Mehsana options given below:

(C) Beetal (D) Toda . (A) 4t (B) 2™
(E) ~ Question not attempted ! ©y 3 Dy
Freferfiaa & & - e T T Y (E) Question not atiempted
e et & v g e g il il thone vhyRelet
i &THAT 3 $HW 5 TTEYT %1 T 8-
) (R),. AoHl frefoftaa freredt # & waffires s9gw 390 H:
© de= oy ») o w fdm
(E) 3Fguia s © T (D) wu
(E) igafeawa

108 Which of the following is the correct temperature
for cryopreservation of semen in liquid nitrogen? 111 Who among the following players of team
Choose the most appropriate answer from the ‘Hockey Rajasthan’ made the only goal inj. the

s enteion: T e e
amplonsni agains OCKE a i
ﬁﬁmmﬁﬁmmm%m Choo\s-[:*. the ;:m' appgrapriare answ:er frrim the
T A FNE? options given below:
forfifiaa faedt 3 & wraifie Jugw I (A) SahilRuhal (B) . Sunil Mann
(A) -—86°C BT —19°C (C) Anurag Suthar (D) Amit Khasa
(C) -196°C (D) -296°C (E) Question not attempted
(E) Question not attempted / SieRa ¥4 Wt T % Freffa & & fw faend
i : 143 gou T S gt - 2024 7
1109 A transmissible viral disease ‘Ranikhet’ is a mm%wﬁwgﬁmﬁwmmﬁ:
§ common disease of: (A) afeeweet (B) Tﬂﬁ;ﬁ =
i Choose the most appropriate answer from the (©) U (D) qTEe T
| options given below: (E) 3afa ¥
- (A) Sheep :
(B) Goat 112 Which of the following is a physical change?

| (C) Poultry Choose the mm: appropriate answer from the

ions given below:

& G EE; D?;cstinn of food

(By Quawionpat stsupiec (B) Rusting of iron
e st far S A T forwe @ (C) Crystallisation
L (D) Bursting of crackers
fPafafea Wﬁﬁﬂ%waﬂ!ﬂi (E) Question not attempted
uT WgE i i & Fr-ar e afady
(B) w = Preffire freed # 8 Faifas soge vy,
(©) W-q;[ (A) WA # 9T (B) Fh%ﬁﬁl’l‘rm
©) T _A€) fresmor (D) W@ S
® sgeRaA ® SR
DEF - B14 | 3 23 [ Contd..,
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113 Which of the following fruits and vegctables @The total number of students in a school was 750,
change their colour, when afier cutting, they are As a result of new admissions in the school, the
kept open for some time? number of boys increased by 11% and the numpe,
a.  Apple b Tomato of girls increased by 20%. If the total number of
¢  Polate ¢ d.  Brinjal students in the scpopl became 846, then what jg
e. Carrot ©0 ]

Ch the m A, ropriate answer from the s sumibee of p 0w
s¢ lhe Al r £ e .

:’“ : b":g"pp‘” foret feremer i €1 @ wEm 750 o
options given i ! s " ;
(A) a,cand @ly (B) a,bandconly i‘;:rq 1 ¥en
(C) b,canddonly (D) ¢, d and e only ﬁll%qﬁ?ﬁn @E ' ﬂzn%q&gﬁl
(E) QuestionaDt Bnmpteg' _ afE fererery # fareffifa TS AT 846 B TE 7 "_
Frferfiaa & & R Bt e e ST Y T e 22
mm%%&@rwﬁwmﬁmﬁwﬁaﬁﬁm %0 168 & B A
aﬁ'%" o 1 20

H (B) 150 o N ’
a. i g b. THIET (C) 180 Ve 1']':3}
« : % (E)  Questi & d / st i
uestion ngtattempte b
ﬁﬁqmﬁaﬁ&fﬁﬁmmmgﬁ. '
P THaT g, o 3Nd (B) FAera,baive
@ %ﬁlﬁh & d (QI Fasc d e 117 The LCM of twommbers 15 14 times their HCF
(E)" rafa v and the sum ofl@i and HCF is 600. If one of
3 the number is Zﬂtﬂigmn the other number is:

114 Whena numbc%increased by 47%% of itself, @ HETHY LCW '{f{q]‘qaﬁaﬁ) 3 HCE
it becomes 590. The numhens (HETH 'ﬂqﬂaﬁhﬂ"iﬂf 14 1 99T LCM (GREE!
e den wd 471 %mﬁmﬁiaﬁsgoa‘r W) i P g w5 600
mi&lﬁ'mg %Wﬁsﬁﬂwmzaoé,a‘r@ﬁm%

(4) 470 o _AAr 80 QO ®B) 320
(B) 350 N (C) 14
Aer 400 o ] ’ o @ 120
D) 430 :;; {E]. Question nﬂL‘gﬂemNEd | rgfE v
(E) Questionfipt anempted!ﬂﬂ?rﬁ?[w
118 Ifthe average of Equmbers is 12 and the average
of five of these n@.be is 15, then what is the

115 If(150% of k) 4g3,= 540, then the value of k is: R %0

Al (k T 150%)D3 = 540, A k FIHF 2 average of the remaining numbers? :
9 1080 R 8 e iR 12 & g @ wr EEA

(B) 360 Eg Wmliﬁ.a’rgﬂ'@nﬁaﬁraﬁmw@

(C) 540 - (A 7.5 N B) 6

(D) 920 g © 65 7

(E) Question not attempted / 3¥Faf wy (E)  Question nqumtlemptedfaﬂﬁfm a4
DEF-B14] @ Kopaod o =94y o | Contd.

ot 80
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e

R ke U

el 1’
Q""'l ERs 50 N I Y %ﬁiw gy g @11&
N & 5 6 1 3 o 2t 7 0
: ) = > :
119 e average age of Ba¥s in a group of students is . =

twice the number o
// average age of the w

19.2 years. If the rgy

irls in the group and (he
le group of 50 students is
of number of boys and
girls in the group is g, then what is the averape

122 Vast natural pastures on the high mountains, in
Garhwal region above 12,900 feet are called:
Choose the maost appr@fﬂ'fﬂ' answer from the

options given below:

N “ B
age of girls (in yearsyjt (A)  Evergreen grassiddd e 1)
50 ey %ma@ﬁﬁ%ﬁiﬁ&hmw E A (B) Du =4 - r
: : gyal
# creferal ) wen A A R T RawE o [T ) - e | 21Y
3 (C) Bhabar )
#rg 19.2 ¢ ¥ 7t guqe F woF of wefed A 5 . S Ny
HEAT H U 401 R, &1 3irad 3y (et 1% (D) Terai grassland (&aﬁ- 36 1-4
) & o - (E)  Question not attegpted *
(A). 17 oaf) 16 E’_ I TGt & H, 12,000 2 Az i Famé o frora , 8
() 18 W) 15 NI aﬁm’émﬁﬂmm@mmﬁ‘ 1
(E)  Question not a@'ﬂpted / ST W \“_EE e mﬁﬁﬁﬁﬂﬁﬁﬁﬂgﬁmﬂﬁ: -2
w3 N (A) wEEER I F AR 2y
120 Udder secretion immediately after calving is | = 8%, (13
| knowh a8 @agd is rich in | AT, < =2 sy
Choose the most apprppriate answer from the L B 5 _‘ia—
: options given below:00D (D) mﬁ%m%ﬁﬂg . g{,
(A) Calf starter, IggB} Colostrum, Ig A ® AT g 7; EUEE
(C) Firstmilk, Ig r-{D) Special milk, Ig M 54 5 "“J’ﬁ;!' oo
(E) - Question not altgmpted : c W T o
S Eﬁﬂﬂ'eﬁﬂl‘;ﬁﬁ‘ﬁ- a7 123 Which of the fallowmg'd.lf cts of Rajasthan had
7 FETET & 3R T8 o TG the highest population®growth rate during the
Yt EmE o decade of 2001-2011?
ﬁﬂ%@ﬂﬁﬁﬁﬁmmﬁmﬂ* Choose the most apprppriate answer from the
£ 169 ) % VI, Ig 1B) m- IgA options given below: Q Ty
5 (C) wau W, IgE D) fafireamy, igM : B CO wn 9__&&.’.\1
=2 _ 3 {A) Jaipur N s
() ¥gai@ss . el e
{(B) Bikaner 1
< 2 sfes i,
121 Which of the foll&¥ing is not the pastoral (C) Barmer /i W88 3%
community of the Himalayas? (D) Kota Yoo 10 1o . é::? ﬂ
Choose the most ﬂwﬂpriare answer from the (E) Question not attempted “]F
options given belowg . 2001-2011 3 7w # Rttt § 4 T & L
(A) Dhangélr' OQ(B) Bhootiya W%ﬂmqﬁtmw me_f
(C) Kinnauri  CMD)  Sherpa TN ?
(E) Question not afttmpted Freerfra faedt mﬁqi TFIFFEIR: L
fnAfafas § @ FH- T YT FHEH (A) g o 8
TH ? (B) T <t 2 )
Pt fasredl # § wafias sgew 3o S aTER @A o B0+
An) TR (B)  wifean (D) Yo o g 2P Q*?t
(C) Gt (D) TI9T (E) ﬂiﬂﬁﬂﬂﬂ lo
() Sguia 5 - .':‘m_q.. 5\‘-,5.*]
0
DEF-BI4] @ 5 3 8 25 = 1 ilee 89 [ Contg, /o
- I 5 Iﬁ“y 778
¥ | gD =
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124  Which of the following districts of Rajasthan had

125

DEF - B14 | 3

the highest percentage of urban population in

their total population in the census of 20117

Choose the most appropriate answer from the

uplic;ns given below:

(A)

(B)

(©)

(D)

(E)  Question not attempted

2011 S ST § e % frefife § @ feg

Foret it wredt e wn sl 3w et e

1wl 917

Freafiafiaa faedt & & warifires suges smgi:

(A) |
£B) AW

(C) =

(D) =R

(E) srt@wa

Udaipur
Jaipur
Kota

Bikaner

4=

Which of the following statements is incorrect
about the image formed by a convex mirror?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

It is smaller than the object.
It is virtual and upright.
It is formed behind the mirror.
(D) Itis formed on the same side of the object.
(E)  Question not attempted
Il 29V F g A AT wfafea Fand frefufa
T & FH-81 Fuq Tea &7 ;
Frfafan famedt # & watfie sugm s T
(A) T A ST TR
(B) & et 3T etur grar &)
e Agdor & drd T )
(D) AT AANMHAE AT

(E) oTqaRawd

26

126

127

128

26

Diffused reflection is caused by:
Choose the maost appropriate answer
options given below:

(A)
()
(C)

from thy

Concave lens

Irregular surface of the reflector

Plane mirror
(D) DBright and smooth surface
(E)  Question not attempted
e (st suad o9 Fror s
et fraredt i & walfirs 3ugw m il
(A) ¥Eae e|

4By wuEdes 6 sifrafia wag
(C) e gdor i
(D) =il o faft gae !
(E) rgaf@ e ‘

is mostly used as side mirror dj

vehicles,
Choose the most appropriate answer from the
options given below:
(A) Concave lens
(©
(E)

(B) Concave mimror
Convex mirror (D) Plane mirror
Question not attempted
T ITEIT Sfiramat aredr & o gdme

w9 H T s &)

Prefafian formred! # & aratfires sugew s

(A) FaETH (B) 3ade T |
~€) I g (D) wYae I

(E) gafawy

Who is known as the father of nuclear science @
India?

Choose the most appropriate answer from ¥
options given below:

(A)  Dr. Har Govind Khurana (Khorana)

(B) J.C.Bose

(C) Rishi Charak

(D)  Dr. Homi Jahangir Bhabha

(E)  Question not attempted

e 3 Rl e farge (g ) F
& ¥ § 917 STar 29
ﬁwﬁaﬁmﬁwiiﬁwqﬁimwg:“ﬂ?’
(A) S eoifas (B) &9
©) qﬂjtm 3%, gt

(B) orgwfawy

[ Contd-
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DEF-B14] @

which of the following: endac;irrie glands is
known as the master gland of the Body?

Choose the most appropriate - anw";er from the
options given below: ey

(A) ~ Thymus gland (B) -'Adren,al gland

(C) Pituitary gland (D) Tli:,n'md gland

(E)  Question not aliemplcd '

fafafma i a =9 ﬁmaﬁﬁﬁrwaﬁ TR
Tifer sEeTd &7
ﬁqﬁiﬁaﬁaﬁﬁﬁﬂwﬁhwmiﬁ

(A) g U 4
(B) mﬁﬂﬁ(@ﬁ)nﬁ )
~§ g T
(D) urEiEs iy '5;}
(E) gat@wd

o

130 Which of the following condition&are correct for

donating the blood by a male or fmale?
a. The weight of a person must bf ve 45 kg.
b. The person should not suffer fromp any Serious

=i
c. Hemoglobin level in !‘_hELr pidod must be
between 8 to 12.

d. The person has not donated ‘:ﬁ;})d since last
o

disease.

two years .
Choose the most appropriate adSwer from the
options given below: i-?;i
(A) aandbonly (B) ab ﬂﬂﬂ conly .
(C) b,canddonly (D) canddonly
(E) Question not attempted
Freaferfar & & 9.2 Rufiat wer
a SHATFHIIIT45kgH el

b, wafer et AT & difea g wnfew

c. mmﬁmﬁqwmsﬁz%ﬁﬁm
=nfew)

d. mmﬁﬁﬁﬁ@ﬁﬁﬂﬂmﬂ:ﬁﬁﬁmﬁl

ﬁﬁqmﬁﬁﬁﬁﬁmﬁwwﬁmﬁﬁi

(A) Wﬂmbﬁ &t a, b 3N c

(c) ¥aeb,c3d (D ® Fad ¢ 3ftd

(E) rgaRa ¥4

wara = 69 g5
VA = (o0 j@

27

v (o) st 3R

/(D)’rm“rsaﬁﬁ?r

132 Haemoglobin is present in

@)

27

; . -
131 A flap like elastic cartilage whighrgets as a switch

between the esophagus and trachieh is:

Choose the most appropriate %wer from the

options given below: v
(A) Bronchus g
(B) Pharynx

C) L

(C) Larynx o
(D) Epiglottis (]
(E)  Question not attempted @

UF T (Jee), At e aqfes AT S
F == fa=

fufrFdsa@twe: o

: ﬁmﬁfﬁﬁﬁaﬁﬁﬁﬂwﬁﬁmw@mgﬁ:

[

(A) H=FH
(B) it
() wfEFarEs

(E) rfuf@aws

%o 04162800

Choose the most appropriate @swer from the
o

options given below:

AN
(A) Both white and red bloodwdlls
(B) White blood cells.; . g
(C) Red blood cells I
(D) Platelets Q
(E) 'Question not attempted g
Srvrreifa qra ST 8- N

ﬁnﬁiﬁﬁﬁmﬁﬁﬁmmmgﬁ

(A) a’iﬁﬁﬁaﬂtmﬁﬁﬁ‘rﬁ‘rﬁﬁﬂ

(B) e T AT A

AT TR ITRTSl 8

(D) eV (<eerRe) §

(E) e wd

Lem  wHel [ Con
waq A Q_i};z\u; ~




133 Select the correct statements from the following : | 135 Identify the Rajasthani player who has not playe
cricket in Indian Cricket team.

Cancer is caused by uncontrolled cell division.
ost appropriate answer from th,

a.

. Hepatitis-A is caused by bacteria. Choose the m

options given below:
(A) Aanantjit Singh Naruka

b

¢. Haemophilia is a genetic disorder.
d

(B) Gagan Kishanlal Khoda

. Leprosy is a viral disease.

Choose the most appropriate answer from the
(C) Hanumant Singh

options given below: S
Parthasarathy Harishchandra Sharma

(A) abandconly (B) aandc only (D)
(C) bandconly (D) aanddonly (E) Question not attempted
(E) Question not attempted g TETH fraremrdt forer WA forehe 2 1 fir
Frferfian § @ wé Rreeedi =t g et aeft, 2
o Sue v iR R 3 s g 8l et fedt § § @aifae® I9gw IR TH:
b. felrerefm-A el % R g 2l (a) s fife T
c. iR v st fre R (@) T T e
d. Tpma el e farmy s @) © wgHafeE
oy for e vt & warHfore gages IEC: (D) refaTeedt e It
_4A) Faeia, b3lc (B) Facta 3 c (B) HAgafEa 94
(C) wHaaba3Me @2\ Faea¥ind ;7R
(E) rafita W . 136 Nutrionally egg is a rich source of:
. ) a P'rutgins
134 is reddish brown, bean shaped b Iron and phosphorus
structure present in lower abdominal cavity of c. Unsaturated fatty acids
human beings. ' - d Carbohydrates
e Vitamin E

Choose the most appropriate answer from the

options given below: ' Choose the most appropriate answer from the

(A) Th:,-mic_i gland | options given below: N
(B) K:idncy ; i (A) c,dandeonly (B) aanddonly
(C) Liver = (C) bandeonly (D) a, b and c only
((;)) Gall bladder : (E)  Question not attempted
)  Question not attempted oravr 5 5 | squer
: TH Hia8:
. f__Eer)'?-lﬁf-i{(:crrrr-“n?n?(aﬁ=n%emﬁﬁrﬁﬁ’r a. W s
| wraaT & i At & el TeT % et vt F ard b, e S wreng w5
| EInigd i AT
| c. mm
, frefafiaa fasedl § & waifd® I9ge® I d. wEEEEz o
," (A) wETss iy e. fefimes
| /f:} W(@j’m ot R R & ararferas 3wge ST
(D:r A (&l A ¢, d 3 ¢ fpg et a AT
(D) fawmma (et =<te0) (B Fb sk D) Faera,biE
® s ) sryhe s -
DEF - B14 | 8 i 28 [ Contd-
|

= p!

28



VF'_

137 which of the following is not a protein present in
milk?
Choose the most appropriate answer from the
options given below:

1
i hobl '

J_MQA sum of T 23,450 is divided among A, B, C and

D such that they received the money in the ratio
off\rB=2:3,B:C'=5:GandC:D=3 : 4,

How much money did D receive?

(A) Lactose (B),'. Casein
(¢) Lactalbumin (D) = Lactaglobulin 7 23.450 %1 TR A, B, C @uT D & 38 Y Al
(E) Question not attemptcd s for 3-8 wIW Ot i AU A B = 2:3,
ﬁwféﬁgﬁiiﬁﬁqmwﬁww&mwn‘mm—m
B:C=5:6a4C;D=3:4 8 D fobam a7
TE 87 o A GLLD
forfefian fasedt # & watfas Jugw Im o - I o
(A) SR _@y” = (A) T8,150 (B) ¥ 8,500 e b B
(C) waeTm (D) SERFEEeE _Aer 8400 (D) %8200 {*ﬁ—’-—‘ﬂ
(E) e ¥ (E) Quesl?mh not attempted / STTALd ¥ 10, 5. 182
0 g 2N
138\ The common test to check adulteration of ghee iz i i
141 ‘Digilocker’ is a government cloud based
_with animal fat is: _ B : 3;»\3-'-; Z
Choose the most appropriate answer from the platform provided application for: Yoo
h t 7 eath
options given below: I Choose the most appropriate answer from rtf_g—:;ﬁ__

2745 '35'
’ﬂ 'I.-h‘

29

61

(A) Nitric acid test A3 2 options given below:
(B) Carbolic acid test —BY ‘!t.:: (A) Storing election related data in a digital
(C) Baudouin test -y f
(D) Halphens test ﬁ" s . Dm:_l : .
(E) Question not attempted (B) Storingcashina d’_g“‘?l form
ot % Sig a6 £t firemae &t 99 F0 F U & (C) Storing important documents in a digital
AT QT 2 : form
frrfirfiae el ﬁﬁmﬁmmﬂﬁ (D) Storing precious metals in a digital form
(A) iiafﬁ Hfra : (E) Question not atlempted
JDV e TET e R
aqiiﬁﬂﬂ'ﬁ Freaferfaa et 9 n‘&f@a‘:‘mmﬁﬁ*
: (A) A wadt sftwst @l fefes =9 F wdia
139 A goldsmith has gold of 14 carat purity and 18 RPN
carat purity. In what ratio should he mix the two ]
o make an orament of 15 carat purity? (B) et = feforeet w0 # wurdte %0t 3 faray
W-kqmmaﬂzwmlga;{zwﬂ e Wﬁﬂﬁaﬁﬁﬁﬁ%ﬁzamﬁm
mm;swreﬂﬁﬂwwmasmwﬁ w0 & ol
oy g A P D) et et it Feforemt :
- 3:1 -. By s5:2 £ . = 9 ¥t T FH
€ 4:3 D) 5:4 '
(E) Question notaltempted / srgefed 541 (B) g
' : 186-Y
; | 15 e 258
I P SO *2 -y
k. R 3
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142 The upper limit of loan amount proposed in the

first phaseC@f ‘Gopal Credit Card Scheme’ for

one year isg

Choose thgnjnest appropriate answer from the
options giw}ﬁ below:

‘it SfegiFTS AT 3 wam wwor WA
o Tt et el v a3 e 2

' "ﬁ‘rﬁr%ﬁaﬁﬁlﬁﬁﬁ%mf&waﬂgﬁmﬂﬁ

(A) 72,350,000

By T5000

143

(C) T75MQ0 e}t e

(D) "¢ t,uﬁ)on

(E)  Questin not attempted / aﬂﬂ'ﬂ?l' o
Q i1

The first p&;ﬂ of “Gopal Credit Card Scheme”
proposed €@m 25" September 2024 to 8™
. [ '
October 2@ is to target reaching how many
Gopalak farfiflies?
i oo Ji o e
Choose th"fﬁm" appropriate answer from the

options givenr below: I

(A) 11 IE;J
B) 3laed
© 5 iaéﬁ "
(D) 91240
—

(E) Questjon not attempted
“Tiarer SEFEEATE ST 1w =T S 25 e

© 2024 8 FZA 2024 T TEATI 2, 1 wrmey RRa

mvf@iﬁqga%w%v
ﬁnﬁrﬁmﬁqﬁtﬁi’rﬁwﬁ%mmgﬁ:
11
oo
(C) s
(D) 9@
(E) it gg

DEF - B14 | a :
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—ey
;g

e

Who |s the minister of technical "d'-'tﬂtlcn
anﬂstu (in September 20247

Choosélthe most appropriate answer from g,
optlon%ﬁlwen below:

(A)
(B)
(©)
(D)
(E) ﬁﬁesﬁc—n not attempted

nm@aﬁﬁﬁﬁwmﬁ(ﬁmwzmﬁ)ﬂq

Smt. Diya Kumari

Sliti Kirodi Lal

§Hki Madan Dilawar
Dr. Prem Chand Bairwa

| ﬁmﬁﬁﬁrﬁwﬁﬁﬂn‘aﬁhmmg&

(A)
(B)

g o e

AR e

oft g e

ERIY W A

(E) ;‘-%ﬁaw

™

cEiEg to report by Forbes India published in

Septcm.lgﬁr 2024, In Indian states Rajasthan ranked
_ 3 _in projected GSDP (FY 2024-25).

Choose, the most appropriate answer from the

optinng.ﬂf\rcn below: _- l_

(A)  OD° (Bleventh) .~ -

(B) (Third)

(©)  s™(Fifth)

(D) T‘g(S&vemh)

(E) = Question not attempted

Accor

o e 1 R, 2024 3 s f

ST 3 it 3, e i1 geita (4 ©

st ‘%ﬂﬂzum 25 Heum :
ﬁq%mﬁﬁﬂﬂmmmﬂ*
(A)

(B)
(C)
(D)
(E)
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147

148

(A) Sirocco ,(B)
() Loo - (D) Chinook
(E) Qucsﬂon not anemp:ed
e & e A T (o) e fffad 3 8
EacE:isy)
Frefirfiaa forsedi 4 4 w&ammmai
(a) el (B) @
Ao q D) fogw
® e A
DER.B14) & - -3

options given below: i

" ‘Choose the most appropriate answer from the

L

According  to” modified'-'Budget 2024. 25 of
Rajasthan, how much money, is allocateq under
“Doctor Shyama Prasad Mukherjee Zila Utthan
Y ojana {

Choose the most appmprmre answar from the

(A) 900cr (B) ' 300cr

(C) 500cr (D) 1700 cr

(E) Question not a{ttempted .

e ¥ qfEe wwe 202425 &

<21 T WS Tl frer Sedw deEr %aﬁm:ﬁ
wrfn SRR Y

Frafafaa fawedt & @ waifis Jages smoa:

(A) 900U © 300503,
(C) 500FE (D) 700 .
(B) rgufawa

Where is the place of ongm of Luni river of
Rajasthan? ;
Choose the most appmpr:‘afe,;an'swer,ﬁqm the
options given below:
(A) Eastern Satpura range
(B) ' Amarkantak
(C) - Nagg-Pahar
(D) Angsi Glacier
(E) ., Question not attempted . .
mﬁﬁaﬁﬁmmmmﬁ%‘?
Frrafafiaa foredt 1 & TarHfires Fuges ST
(A) e wagst avft (B) e

) aEs (D) m@ﬁﬁm
(E) el 57

Which one of the following hot winds blows in
Rajasthan?

options given below: ;
. Khamsin.

i 2k
ey

31

149 Chulia a water fall is located in which of the

following physiographic regions of Rajasthan?
Choose the most appropriate answer-from the

options given below:

(A) Aravali region

(B) Western desert plain regioﬁ
(C) Eastern plain region ¢
(D) South-eastern plateau region

(E)  Question not attempted
g%mwmm%ﬁn%f@aﬁ%ﬁg
“iiferer & fea &2

fFrfeifiaa fawedl § & waifas sogw 9t T
(A) owEelt T

(B) ufirft weeue fewt &=

(C) ot et &

D) afirrget qardt &

(E) Iygﬁﬁam

¥

150 Which uf the fo]luw:ng types of forests are not

found in Ra;aﬁthan'}' :

Choose the most appropriate answer from the

" options given below:

(A)
(B)
©
(D).
(E)
ﬁq%hﬂﬁ&nmﬂ;mmﬂmqﬁaﬁ
L

mﬁmﬁﬁﬂmw@ﬂtﬁ

Tidal forest

Tropical thorn forest
Tropical dry deciduous forest
Sub-tropical montane forest

Question ‘not attempted -

/(-'c’)"?q'rﬁtraﬂ

(B) Iwehfesd widarw a7
(€) IwrfeEdia e oiureht o
(D) TRl v T

(E) waftaws
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